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. Question 11- Ajay appears in an examination where his marks in

2
ﬁ\é)/// Hind1 1s 20 marks more than what he got in Maths . Find his marks

=)

GED W
H_m - 2\ o Statement I — Average marks of Maths and English 1s 71.5. The ratio
of marks of Practical and Theory in Maths 1s 6 : 5 and 1n English, it
is'15:7 A
M te=[[-5 X Q Statement I —Ratio of marks obtained in the theory exam of Maths .

WH{? = | 1_1 3 and English 1s 1 ¢ 2. The ratio of marks of Maths and Engli @.’.
' I 11- TS Ueh G H SURET BIdT & STal [eal § 38eh 3k U A
m ;6{6:&)‘”3 ITH 3okl § 20 3ok 31Tereh &l fEaT 4 36eh 31k 1 shile

8= |ys w1 Tt Sfi st 3 i i 71.5 81 T S ok

m /tll SR o Fohi T STIATT 6 : 58 AN IUSTH, I8 15: 78
%6)(5 T 11— T SR SFUSHT shl LA GIEAT H ITH 3Fehl 3h1 I 1 : 2 =
) TTUT ST SAUSH o JHehl T UG S : 8 8



A-. Either I or II 1s sufficient

B- Statement II alone is sufficient

C- .Neither of the statement is sufficient
\_DP=Both I and II together 1s sufficient

E- Statement I alone 1s sufficient



Question 13- There are 6 consecutive odd numbers. In which product of first

and second number if 483. Find the average of middle two terms.

DAA 557 13- 6 FRETTA fow ST 2| et 37K gur S o Torha ¥ afg 483 %‘?

aR A 7 UeT T IEd JTd shiTSIg)
X+ A+(0
:@I+H)+(°?I+6) A= 26
S B- 25
e 25% C- 33
_— D- 24
= }% :ﬁ 5- none of these
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Question 1- The average annual income (in Rs.) of certain
- workers 1s A and that of other workers i1s B . The number of A

workergis 9 times that of otherworkers. Then the average

monthly income (in Rs.) of all the workers 1s :

1
@
==
T 1- maﬁmaﬁraﬁwaﬁmm(mﬁm%aﬁtmaﬁﬁ
B o sida arftien 3T B 21 A fieh! ot €& 31=7 SAfient sl &A1
/ a%9gm%|ﬁwaﬁﬁaﬁaﬁmmﬁssm(mﬁ)w%?
(-
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B-X = 5 I\ AR IODHOD A-(9A+B)/10

= e
A i | 360 2 B- (9A-B)/10
) |30-9 < B-x C- (9A+B)/9

Jox< it D- (9A+B)/7
\ E- None of these
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(igj] = ( + > ' Question 4- pz _gp 0

O s
b{ g%+18q+77 =0

N/
A- p=q
B- p<g
—57 '—’( , —_— C- p=gq
D- p =q
D E- P= g or relation cant be established/
ety TerTfoa A2t foraT s @=kar 21

wPrq

00w X
g
\4
Q

P =q
E- P=( or relation cant be established/

geier iU 2t foram ST &ehdr 21
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Question 5- Q\@b =0

qz- 23\/§q +60 =0
5

s )<

A- p>(q 2/ 60%- 23v/3q +0N 2
B- p< (g

C- p=(q %O//tlQK]S
D- p =q 9

“E=— P= ( or relation cant be established/
ey T &l fohaT ST Tehdl Bl
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Question 6-

Quantity I- A person sells an article at 40% disco'unt then there 1s a
loss of 20%. The marked price 1s what percent more than the cost
price.

Quantity 2- After allowing a discount of 20% a person gai.

The marked price is what percent more than the cost price.

T4 6- Quantity I- Tsh STth Teh & 3l 30% BE UL =1 & dl IH
20% T BT BIt 2| 3ATehd Hod, 35T Hed ¥ fohe SdsTa 31ferek &2
Quantity IT- 10% 31 B & o sl T STtk I 25% T ATH Bl 2

3ffohd Hed, 56 U ¥ foh TideTd 31feren 82
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e
ek
Quantity I> Quantity 11
_Quantity I < Quantity II
Quantity I = Quantity II
Quantity I < Quantity II

Quantity I= Quantity II or relation cant be established/

B ’D 121 0 } = iy T el fohaT ST TehdT 2|
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5 et L‘f m P &H = __Cj;XJ,Q/ZS
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( XL /@Questlon 7- The compound interest on a sum of Rs 40000 at 20%

A

-
©SBI| s x>~ per annum for 3 years is what percent of simple interest on a sum of
S\&Y \2,77( Rs 50000 fof 5 years at 12%)per annum.
Z
= T 4- 40000 T T T T 3 =1 o foTT 20% Ffe o Fit T & Tshafe

_20'.
J /‘%ﬁ)uﬁaﬁaﬁaﬁsaﬁ%msoooomaﬁrﬁmw
SITST o1 Tohd=T ST 87
T X of H :
/ 6y§ /%1: Xlﬁ% ?39/(.)09%
30 | 115%
= I8 Y2 \Ys¢ SER 9706%
/@X%_ = ¥/Lg/ == DEES None of these

3 https://t.me/mathbytarunsirmepl



Question 8- 85% of 2400 + 88% of 15625 — 20% of 1260 + 37.5% of 1512 |
T4 8- 2400 skl 85% + 15625 <hl 88% — 1200 <kl 20% + 1512 kT 37.5%

_?,% ooz « I54> n 15117

P x5 [R% R 21167

e C PR
%OHGJHM(SQ /\*7 AT

—Mo 4§46 D_16117
= } 5 T 0 3 1 30 2 None ofthese
et \g\\\:L
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Question 9- A person bought some apples at the rate of 5 per rupee
and the same number at the rate of 4 per rupee. He mixed both-the

types and sold at the rate of 9 for 2 rupees. In this business he

suffered a loss of Rs. 3. Find his profit or loss percentage?

T 9- Ueh SFi<h o 6 G shl 5 79F Tid T ohl 3 H IR 3ei1 & Gl

19
152 U 4 39 i &9 shl & 8 WUET| I8 SHT ok shl THATAT & 3T 9 shl &
= Y 2 F9Y H ST 8| 56 SFH H 3% 3 0 h1 TohHT §AT| JHehT AT
152 . SIRNGRRIGEEAISEI

& Home woark 30

None of these
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A-23/119
B- 24/119/
C-11/119
D-17/121

E- none of these

Question 10- A bag contains 35 balls/of three different colors viz.
blue, yellow and green. The ratio of blue balls to yellow balls is 3 :

2, respectively and probability of choosing a green ball 1s 3/7. If

two balls are picked from the bag, then what is the probability that

one ball 1s yellow and one ball 1s green?

T QT U i STAT-AAT TN i, Fied 3N L {7 Y 35 7ie 2| et ar

S YAt TTaT hT STATA ShAST: 3: 2 & AN B 71 <A ohl GHIEAT 3/7
21 IS S &Y @1 2l AT ST &, Al T 718 oh Uit 371 Teh 718 o e 1

NSRS

°nl i+

(e
hl Al

RIehdT I 22
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Question 11- Three 1dentical dice are thrown simultaneously, what 1s

the probability that the product of all three outcomes on the three -

dices will be even?

T 1 1- 9 GHE 919 ohl Ueh TT %heh ST SITAT 8, 1 $9 o1d shl ITTRIehd]
T & oh i1 Oie O &t <fi TOTTET ST U S BT

@P(@%om/d:[{ 7 700

7 A-1/8

S 61 gL B- 3/8
o | C- 4/7
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